Name ________________________________________________

Exam #2, Math 102, Summer 2007

1. A rocket ship with an initial velocity of 85 feet per second is launched from the top of a mountain 1500 feet above sea level.  Neglecting air resistance, the height of the rocket above sea level at the time x seconds is given by the equation 
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 where y is measured in feet.

a. Fill in the following table for the height of the rocket for the first five seconds of flight.

	x
	1
	2
	3
	4
	5

	y

	
	
	
	
	


b. Find the rocket’s maximum height to the nearest foot.

2. Given the equation 
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3. Tommy’s dad is a crazy planner.  He would like to set aside money the year Tommy is born so that Tommy’s kids have money to go to college with.  He figures that he has 40 years to save (at least) before Tommy’s kids will be old enough to collect.  Assuming that he’s right, and his high-yield savings account currently makes 5.5% interest compounded monthly, if Tommy’s dad invests $7,000 now, how much will be available for Tommy’s kids for college?  You may use the formula 
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4. a. Graph the points {(-1,1), (-2,-6), (4,3), (3,-7), (0,1)} on the graph below.


[image: image4]
b. For the listed points, state which quadrant the point belongs to, or which axis it sits on.

i. (5,6)
ii. (-4,-11)
iii. (9,0)
iv. (-1,6)
v. (0,0)
5. Consider the equation 
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a. is the equation linear or nonlinear?

b. describe the shape of the graph

c. Determine if either of the following points satisfy the equation:


i. (0,4)


ii. (-2,3)

6. a. Find the x- and y-intercepts of the equation 8x + y = 16

b. Use your calculator to sketch the graph.

7. Determine if any of the following relations are functions.

a. 
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b. Input: Citizens of the United States

    Output: Social Security Numbers

c. 
	Input
	Output

	Cat
Dog

Fish

Ox

Rat

Monkey
	1972
1999

2006

1984

1944

1973
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e. 2x - 3y = 9
8. Find the following values for the function 
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a. f(2)
b. f(-2)
c. f(0)
9. Given the function 
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, use your table feature to find all the values where f(x)=0.

10. State the domain and range of the function shown below.  Assume that each tick mark on the graph represents one (1) unit.  [The equation is 
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Bonus:

Translate the following statement into a graphical representation, an interval notation and set notation.

x is greater than 4 but not more than 10
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